EARAROBREBRT —5 XN—ZXBISH—F 202356858 (B) 4EXH1H

IV FIRE B3— USR—i% BN R
[xE%] 1 & :2,400,000 3 . 23#&:960,000 .~ 33&:600,000 43&:360,000 3 . 5 & :240,000 3
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
X : ~7-4- - IRHE (IHE)
N EVE S e 2T B4 = 1.({)).2 6-7-4-4 | 38.1 1 (4352) AR
RIS IIVITIYR BiALRE L]
5 KEEZ : -4-5- - W (KFH)
N i w5 | E Rl L R LT -
R:RyI—9ILYI #B:5T=—TJU—L =6 %15
. r—— 0. 333 |392| - BIBEZ (KH
38|14 TW—0V 17 # 5 | EHRR s | 5333 |92 B e
R:7ROAFVITL B:NVAT AR J0-U—TJ7—LA
~ )5 o4 | HFRY 1:41.1 1-1-1-1 [ 39.5| - 4 | 475 |HFIEA ()
N > PIEEES 2 5.0 ad) o | LDES
R:budoO—U— B:Y39FVIUAR pdsve]
o o, BEAIRIE : -12-7- - BRA—R (K#H)
5 9| NvE—TUR B3 B (11.411/.43) 12-12-7-7 | 38.5 7 (4+563) 5%5%17":5
RiXAY3VR—5— B:N\vE—IL HHE EE
— ® =0 BREK : -8-8- - IBMA=RE (KH)
6l8li3| F4—27LF4— 4% 5 sl 1(74151 8-8-8-8 | 38.4 14 (4_523) ﬁmma:ﬁ
RINSVEYR BTIRTATVVY HNIFNT7—L
Sy N it 5 | fEEAEISE 1:41.6 2-2-2-2 | 40.0| — 2 506 | EEF0E (K#H)
75| 8| NWY—THYT— i i) Gy | St
R:hSvEVR g:Y/09Y HR #B—
5 \ v 5 | HEEAS 1:41.6 14-14-12-12| 38.2 | — 11 | 486 |HBEA (1)
8|57 | EO—Y 55.0 &E) () |TBEE
R:iTJUX—Y BFTATVVD S—L— - VoY - Tr—LERE
~ =~ s 4 | TWE 1:41.9 11-11-13-9 | 38.3 | — | 13 | 485 |#BAHF (W)
EH 3 UVhAFTY ¥¢53.0 (1172 (9) |TOEERE
RIIZARIT—LYF— B:UY/T4—IUT piEge)
. — o LUzt : -10-10~ - BT (VE)
1007011 N1 57 1o 4 5 e 1.(432).5 10-10-10-13| 39.1 12 (4_372) el
R:€r/0704 B:RvyaR-—)b R | |45015%
. " T 142, -6-9- . - EER (KH)
1183410 IZXAFYUTIWIT7A o4 5.0 (1745}75) 46910 1393 8 (4_753; {RA%RIHE
R:vEWDF— B ITT—ANSAT HiE EB
- pe— . 9-11- - LA~ D)
120111 N LUHUT 6 576.0 1.6122).9 9-9-11-11 | 39.5 9 (.’)_021) e
RIIZRT VTV Bik—LRA—RK—L FRE%S
5 = B4 | SHE 1:43.2 7-5-6-6 | 40.7 | — 3 380 | MYEHZ (k)
13§ 5| ZLUTTA 54.0 11/ Cy |SEwiE
RALVYISvoEl B:ZY/F=3 =W #3
S~ )3y 4 | BIHERS 1:43.6 13-13-14-14/ 39.9 | — 10 | 470 |WRE (KH)
1400 6| 720EY Y v— " 56.0 ) ) |_® SERT—TIL
RIN—EYIv— 8:770Ny S5V =IB%iS
@ 11— —BRIEfI
13—7F— 2,8,4,10,14,12,5,13,1,11,3,9,6,7
20— — 2,8,14,4,5,10,12,13,1,11,3,9,6,7
30—7F— 2,8,14,12,4,5,9,13,10,11,1,7,3,6
40—F— 2,8,14,12,4,5,9,13,3,10,1,7,11,6
o ILRE
BB 12 190 JA R 4-12 5004 & 3-7 1,330 3ER 4-12-14 3,760
B B 12 130 12-14 390M4 (=] 7-3 2,040 3Es 12-4-14 15,070M4
4 2604 4-14 1,170 5 & 4-12 1,650
14 270 =51 12-4 2,150M

ABIC OV TRUTEREERRODDZE. THRIIZEL.



